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Amount of Br,, required for formation of 2, 4, 6~ tribromophenol from 2 g phenol?
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Heat treatment of muscular pain involves radiation of wavelength of about 900
nm. Which spectral line of H-atom is suitable for this purpose ?
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Consider the given values:
AH = 55 kJ mol™!
AS =175 J mol 'K
T=25°C =98 X
Calculate the value of Gibbs free energy charge (AG) in J mol™.
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Co(NH3)xCI3 has 0.1 molal, 100% dissociation AT, = 0.558 (kf = 1.86). Then formula
of compound is m_:e-! ATF - 558
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Consider the following
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Adiabatic constant of a gas is 3/2. If volume of gas initially at 0°C is reduced to one
fourth of the original volume then new temperature ls
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If qul molecules are removed from X mg of Coz(g), then 2.4 x 10~ > moles are left.

Calculate the value of x. iR (7 x H Howolefs + o
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